Neglecting losses and fringing effects and assuming the substrate of a stripline
to have a thickness 0.4(mm) and a dielectric constant 2.25, (a) determine the
required width w of the metal strip in order for the stripline to have a
characteristic resistance of 50(Q); (b) determine L and C of the line; and (¢)
determine u,, along the line. (d) Repeat parts (a), (b), and (c) for a characteristic
resistance of 75 ().

SOLUTION

a) We use Egs. (8-17) and (8=18) in Eq. (8-43) to find w:
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d) Since w is inversely proportional to Z,, we have, for Z; = 75(Q),

w = (zo)w =$% x 2=133 (mm).

L= (-2—) x 0.251 = 0.377 (uH/m).

) 133
C = (ﬁ) C = (1—2—3) x 99.5 = 66.2 (pF/m).




